#### KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

# Form June 2009 Form Must Be Typed Form must be Signed All blanks must be Filled

### **WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE**

OPERATOR: License # 30742	API No. 15 - 083-21743-00-00
Name: Palomino Petroleum, Inc.	Spot Description:
Address 1: 4924 SE 84th St	SW_NE_NW_NW Sec. 19 Twp. 21 S. R. 25 ☐ East W West
Address 2:	352 Feet from ☑ North / ☐ South Line of Section
City: Newton State: KS Zip: 67114 + 8827	812 Feet from East / West Line of Section
Contact Person: Klee R. Watchous	Footages Calculated from Nearest Outside Section Comer:
Phone: (316) 799-1000	□NE ☑NW □SE □SW
CONTRACTOR: License #_ 33575	County: Hodgeman
Name: WW Drilling, LLC	Lease Name: MacNair Trust Weil #: 1
Wellsite Geologist: Nicholas Gerstner	Field Name: Pawnee River Southwest
Purchaser: None	Producing Formation: None
<del></del>	
Designate Type of Completion:	Elevation: Ground; 2303 Kelly Bushing: 2300  Total Depth: 4450 Plug Back Total Depth:
New Well Re-Entry Workover	Amount of Surface Pipe Set and Cemented at: 218 Feet
OII WSW SWD SIOW	
☐ Gas	Multiple Stage Cementing Collar Used? Yes No
☐ OG ☐ GSW ☐ Temp. Abd. ☐ CM (Coal Bed Methane)	If yes, show depth set:Feet
Cathodic Other (Core, Expl., etc.):	If Alternate II completion, cement circulated from:
If Workover/Re-entry: Old Well Info as follows:	feet depth to:w/sx cmt.
Operator:	***************************************
Well Name:	Drilling Fluid Management Plan
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit)
Deepening Re-perf. Conv. to ENHR Conv. to SWD	Chloride content: 14,200 ppm Fluid volume: 800 bbls
Conv. to GSW	Dewatering method used: Air dry - backfill
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Permit #:	Operator Name:
Dual Completion Permit #:	Lease Name: License #:
SWD Permit #:	QuarterSecTwpS. RRECENTUREST
ENHR Permit #:	Country Bornelt #
GSW Permit #:	FEB 0 2 2012
1/2/12         1/7/12         1/8/12           Spud Date or         Date Reached TD         Completion Date or	
Recompletion Date Recompletion Date	KCC WICHITA
Kansas 67202, within 120 days of the spud date, recompletion, workover or confidential for a period of 12 months if recompletion.	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, poversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information quested in writing and submitted with the form (see rule 82-3-107 for confidential report shall be attached with this form. ALL CEMENTING TICKETS MUST
AFFIDAVIT I am the affiant and I hereby certify that all requirements of the statutes, rules and of the statutes are statutes.	KCC Office Use ONLY
lations promulgated to regulate the oil and gas industry have been fully complied	The second Ann Second of the Paradistrial
and the statements herein are complete and correct to the best of my knowledge	ge. Date:  Confidential Release Date:
Signature: Ruchelas Paleston	Wireline Log Received
Signature: / Children Talling	Geologist Report Received

Title: Geologist Date: \_\_\_

#### Side Two

Operator Name: Palo	mino Petroleum	, Inc.		Lease	Name: _	MacNair Trus	<u>t                                    </u>	Well #:1_		
Sec. 19 Twp.21	s. R. <u>25</u>	East	✓ West	County	r: <u>Hodo</u>	<u>jeman</u>				
INSTRUCTIONS: Sho time tool open and clos recovery, and flow rate: line Logs surveyed. At	sed, flowing and shu s if gas to surface te	t-in presso st, along v	res, whether s vith final chart(	hut-in pres	sure rea	ched static level,	hydrostatic p	ressures, bottom (	hole temp	perature, fluid
Drill Stem Tests Taken (Attach Additional St	heels)	_ \	es 📝 No		XL	og Formatio	n (Top), Dept	h and Datum		Sample
Samples Sent to Geolo	ocical Survey	□ Y6	es 📝 No		Nam			Top		Datum
Cores Taken	.g				1	ny. se Anhy.		1558 1595	•	+ 810) + 773)
Electric Log Run					1	ebner		3701	-	-1333)
Electric Log Submitted	Electronically	□ Ye	es 🗌 No		LK			3746	-	-1378)
(If no, Submit Copy)					BK	C		4126		-1758)
List All E. Logs Run:					1	rmaton		4158		-1790)
Radiation Gua	ard					wnee		4236	-	-1868)
					Ft	. Scott		4275	(-	-1907)
		Repo		RECORD conductor, s	√ Ne urface, inte	w Used ermediate, product	ion, etc.			
Purpose of String	Size Hole Drilled		e Casing (In O.D.)	Wei		Setting Depth	Type of Cement			and Percent Additives
Surface	12 1/4	8 5/8		23#		218	Common	160	3% cc	& 2% gel
	•		ADDITIONAL	CEMENTI	NG / SQL	JEEZE RECORD	•	•		
Purpose:  —— Perforate	Depth Top Bottom	Туре	of Cement	# Sacks	# Sacks Used Type and Percent Additives					
Protect Casing Plug Back TD										
Plug Off Zone						į				
	DEDECDATI	ON PECOS	RD - Bridge Plug	e Sat/Time		Acid Em	etura Shot Ca	ment Squeeze Reco		1
Shots Per Foot			Each Interval Per					of Material Used)		Depth
								P	ECEIV	(En
										F
					_			FE	B 02	2012
								<del>- KC</del> (	<del>: WIC</del>	HITA
			<u> </u>							
TUBING RECORD:	Size:	Set At:		Packer A	At:	Liner Run:	Yes [	] No		
Date of First, Resumed F	Production, SWD or EN	IHR.	Producing Met	hod:	ng 🗌	Gas Lift 0	Other (Explain) .			·
Estimated Production Per 24 Hours	Oil	Bbts.	Gas	Mcf	Wat	er B	bis.	Gas-Oil Ratio		Gravity
·				L						
DISPOSITIO	ON OF GAS:		ı	METHOD O	F COMPLI	ETION:		PRODUCTI	ON INTER	IVAL:
☐ Vented ☐ Sold	Used on Lease		Open Hole [	Perf.	Dually (Submit		mmingled mit ACO-4)	***************************************		
(If vented, Subi	mit ACO-18.)		Other (Specify)		(COOM)	(300	····· /100 <del>-4</del> /			

## **LOGS**

Miss. 4376 (-2008) LTD 4455 (-2087)

> RECEIVED FEB 0 2 2012 KCC WICHITA



PO Box 31 Russell, KS 67665

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Palomino Petroleum, Inc.

4924 SE 84th St.

Newton, KS 67114-8827

## RECEIVED

INVOICE

Invoice Number: 129892

Invoice Date: Jan 8, 2012

Page:

1

Customer ID Palo	Well Name# or Customer P.O.	Payment Terms  Net 30 Days	
	McNair Trust # 1		
Job Location	Camp Location	Service Date	Due Date
KS1-03	Great Bend	Jan 8, 2012	2/7/12

Quantity	Item	Description	Unit Price	Amount
132.00	MAT	Class A Common	16.25	2,145.00
88.00	MAT	Pozmix	8.50	748.00
8.00	MAT	Gel	21.25	170.00
55.00	MAT	FloSeal	2.70	148.50
230.00	SER	Handling	2.25	517.50
23.00	SER	Mileage	25.30	581.90
1.00	SER	Rotary Plug	1,250.00	1,250.00
46.00	SER	Heavy Vehicle Mileage	7.00	322.00
46.00	SER	Light Vehicle Mileage	4.00	184.00
1.00	EQUIP OPER	Greg Redetzke		
1.00	OPER ASSIST	Shane Konzem		
1.00	OPER ASSIST	Jonathon Ploutz		
			RECEIV	/ED
			FEB 02	2012
'				
			KCC WIG	CHITA

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1757.33

ONLY IF PAID ON OR BEFORE
Feb 2, 2012

 Subtotal
 6,066.90

 Sales Tax
 451.98

 Total Invoice Amount
 6,518.88

 Payment/Credit Applied
 6,518.88

 TOTAL
 6,518.88

# ALLIED CEMENTING CO., LC. 042390

<b>y</b>	
REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT: A
RUSSELL, KANSAS BIUW	CASA (CASA)
PARE /- 8-12 SEC. 19 TWP. 12 RANGE 2540 CA	ALLED OUT ON LOCATION JOB START, JOB SINISH
	CONINTY STATE
EASE Trust WELL LOCATION LOSS (	Chy Soto Rd X Age 185
LDOR NEW (Circle one) //4) 750	
ONTRACTOR LUW #10	Default Potenta
	OWNER 19 ONLING SETTELEUM
TPE OF JOB TOTAL TO	CEMENT
0009.20	AMOUNT ORDERED 2200K, 60/40 Poz
ASING SIZE DEPTH	40/0 9-1 /1/ 1/0303/
UBING SIZE DEPTH RILL PIPB DEPTH	
OOL DEPTH	- 00
RES. MAX MINIMUM	COMMON 132 @ 16.25 2145.20
MEAS, LINE SHOE JOINT	POZMIX 98 @ 8.50
EMENT LEFT IN CSG.	GEL 8 @ 21.25 /70.00
PERFS.	CHLORIDE@
DISPLACEMENT	ASC @ 2.70 /78.50
EQUIPMENT	#lo sext 55 @ 2.70 /48.30
PUMPTBUCK CEMENTER	@
Tole HELPER Thomas	@
BULKTRUCK	
BULK TRUCK	
DRIVER	HANDLING 2.30 @ 2.25 517.5
244.704	HANDLING 2.30 @ 2.25 517. 581. 46
L	
REMARKS:	TOTAL <u>₹310.90</u>
1390 ff W/X 305X	SERVICE
	SPACY1U.P.
E PUS PUS A WAY EIGEN	
En ly The If W/ HOCK	
HI THE COST WIX 20 5%	DEPTH OF IOR: ASSO
WIX 70 SK IN SET MOLE	DEPTH OF IOB : /590 PUMP TRUCK CHARGE /258.00 EXTRA FOOTAGE @
MIX 70 SX in Rethole	DEPTH OF JOB : /590 PUMPTRUCK CHARGE /250.00
MIX 70 SX 12 Rethole	DEPTH OF IOB: /590 PUMPTRUCK CHARGE /258.00 EXTRA FOOTAGE @ MILEAGE #UM YL @ 7.00 3.22.00
MIX 70 0 x in Rettale	DEPTH OF JOB : /590  PUMP TRUCK CHARGE /258.00  EXTRA FOOTAGE @ 7.00 322.00  MANIFOLD @ 4.00 /84.00
MIX 70 5x 1 Rethole	DEPTH OF IOB: /590 PUMPTRUCK CHARGE /258.00 EXTRA FOOTAGE @ MILEAGE #UM YL @ 7.00 3.22.00
HARGE TO: PAJOULINO PETroleum	DEPTH OF IOB : /590  PUMP TRUCK CHARGE /258.00  EXTRA FOOTAGE @  MILEAGE HUM YL @ 7.00 3.22.00  MANIFOLD @ 4.00 /84.00
. ·	DEPTH OF IOB : /590  PUMP TRUCK CHARGE /258.00  EXTRA FOOTAGE @  MILEAGE #UM YL @ 7.00 322.00  MANIFOLD @ 4.00 /84.00  TOTAL 1756.00
STREET	DEPTH OF IOB : /590  PUMP TRUCK CHARGE /258.00  EXTRA FOOTAGE @  MILEAGE #UM YL @ 7.00 322.00  MANIFOLD @ 4.00 /84.00  TOTAL 1756.00
STREET	DEPTH OF IOB : /590  PUMP TRUCK CHARGE /258.00  EXTRA FOOTAGE @ 7.00 3.22.00  MANIFOLD @ 4.00 (84.00)  LUM 46 @ 4.00 (84.00)  TOTAL /756.00  RECE
STREET	DEPTH OF IOB : /590  PUMP TRUCK CHARGE /258.00  EXTRA FOOTAGE @ 7.00 3.22.00  MANIFOLD @ 4.00 (84.00)  LUM 46 @ 4.00 (84.00)  TOTAL /756.00  RECE
STREET	DEPTH OF JOB : /590  PUMP TRUCK CHARGE /255.00  EXTRA FOOTAGE @ MILEAGE HUM YL @ 7.00 322.00  MANIFOLD @ 4.00 /84.00  TOTAL /756.00  RECE  PLUG & FLOAT EQUIPMENT  FEB 0
STREET	DEPTH OF JOB : /590  PUMP TRUCK CHARGE /255.00  EXTRA FOOTAGE @ MILEAGE HUM YL @ 7.00 322.00  MANIFOLD @ 4.00 /84.00  TOTAL /756.00  RECE  PLUG & FLOAT EQUIPMENT  FEB 0
STREETSTATEZIP	DEPTH OF JOB : /590  PUMP TRUCK CHARGE /255.00  EXTRA FOOTAGE @ MILEAGE HUM YL @ 7.00 322.00  MANIFOLD @ 4.00 /84.00  TOTAL /756.00  RECE  PLUG & FLOAT EQUIPMENT  FEB 0
STREET STATE ZIP  To Allied Cementing Co., LLC.	DEPTH OF IOB : /590  PUMP TRUCK CHARGE /250.00  EXTRA FOOTAGE @ /2.00 3.22.00  MILEAGE HUM YL @ 7.00 3.22.00  MANIFOLD @ 4.00 /84.00  TOTAL /756.00  RECE  PLUG & FLOAT EQUIPMENT  FEB 0
STREET STATE ZJP  To Allied Cementing Co., LLC.  You are hereby requested to rent cementing equipment	DEPTH OF JOB : /590  PUMP TRUCK CHARGE /250.00  EXTRA FOOTAGE @ /2.00 3.22.00  MILEAGE HUM YL @ 7.00 3.22.00  MANIFOLD @ 4.00 /84.00  TOTAL /756.00  RECE  PLUG & FLOAT EQUIPMENT  FEB 0
STREET STATE ZIP  To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	DEPTH OF JOB : /590  PUMP TRUCK CHARGE /250.00  EXTRA FOOTAGE @ /2.00 3.22.00  MILEAGE HUM YL @ 7.00 3.22.00  MANIFOLD @ 4.00 /84.00  TOTAL /756.00  RECE  PLUG & FLOAT EQUIPMENT  FEB 0
To Allied Cementing Co., LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was	DEPTH OF JOB : /590  PUMP TRUCK CHARGE /250.00  EXTRA FOOTAGE @ /2.00 3.22.00  MILEAGE HUM YL @ 7.00 3.22.00  MANIFOLD @ 4.00 /84.00  TOTAL /756.00  RECE  PLUG & FLOAT EQUIPMENT  FEB 0
To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and halper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	DEPTH OF IOB : /590  PUMP TRUCK CHARGE /258.00  EXTRA FOOTAGE @ 7.00 3.22.00  MANIFOLD @ 4.00 (84.00)  FOTAL /756.00  RECE  PLUG & FLOAT EQUIPMENT  FEB 0  TOTAL
To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	DEPTH OF IOB : /590  PUMP TRUCK CHARGE /258.00  EXTRA FOOTAGE @
To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and halper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	DEPTH OF IOB : /590 PUMP TRUCK CHARGE /2.58.00  EXTRA FOOTAGE @
To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	DEPTH OF IOB : /590  PUMP TRUCK CHARGE /258.00  EXTRA FOOTAGE @



PO Box 31 Russell, KS 67665

Voice: Fax: (817) 546-7282 (817) 246-3361 TECEIVED

INVOICE

Invoice Number: 129842

Invoice Date: Jan 2, 2012

Page: 1

Bill To:

Palomino Petroleum, Inc. 4924 SE 84th St. Newton, KS 67114-8827

Customer ID	Well Name# or Customer P.O.	Payment Terms  Net 30 Days	
Palo	McNair #1		
Job Location	Camp Location	Service Date	Due Date
KS1-01	Great Bend	Jan 2, 2012	2/1/12

Quantity	item	Description	Unit Price	Amount
160.00		Class A Common	16.25	2,600.00
3.00	MAT	Gel	21.25	63.75
6.00	MAT	Chloride	58.20	349.20
169.00	SER	Handling	2.25	380.25
23.00	SER	Mileage	18.59	427.57
1.00	SER	Surface	1,125.00	1,125.00
46.00	SER	Heavy Vehicle Mileage	7.00	
46.00	SER	Light Vehicle Mileage	4.00	184.00
1.00	EQUIP OPER	Greg Redetzke		
1.00	OPER ASSIST	Shane Konzem		
1.00	OPER ASSIST	Jimmy Henkle		
!				
				RECEIVED
				FEB 0 2 2012
			K	C WICHITA
	1			
·		Cubhatat		··· <del>-</del>

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1557.13

ONLY IF PAID ON OR BEFORE
Jan 27, 2012

Subtotal	5,451.77
Sales Tax	
	189.82
Total Invoice Amount	5,641.59
Payment/Credit Applied	
TOTAL	5.641.59

# ALLIED CEMENTING CO. LLC. 042386

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:	
	ALLED OUT ON LOCATION JOB START JOB FINISH	
White I	to the Soft of COUNTY STATE	,
OLD ORNEW (Circle one)	25045/2 3/4/4)	
CONTRACTOR 4)(4) # 15	OWNER POLONIKO	
TYPE OF JOB JULY 1968	1	
CASING SIZE /2/3 DEPTH 2/9	CEMENT AMOUNT ORDERED 160 45 CESSET	
TUBING SIZE DEPTH	300cc 20/6 gel	
DRILL PIPE DEPTH TOOL DEPTH		
PRES. MAX MINIMUM	COMMON 160 @ 16.25 2600.00	
MEAS. LINE SHOE JOINT	POZMIX	
PERFS.	GEL 3 @ 2/.25 (3.25	
DISPLACEMENT The state of the s	CHLORIDE 6 @ 5820 349.30 ASC @ .	
EQUIPMENT	@	
^ ^		•
PUMBTRUCK CEMENTER Treas		
# 270 HELPER DUGAEK		
BULKTRUCK # 349//90 DRIVER	@	
BULK TRUCK	<u> </u>	
# DRIVER	#ANDLING 169 @ 3.25 380.25	
	MILEAGE 169 x 23 x.11 427.57	
REMARKS: O6	TOTAL 3820.77	
Dreat circ. w/ Sig mus	SERVICE	
100 cup mix /60 5x C/125 A	DERTH OF IOD	
with 13 by the shubster	PUMP TRUCK CHARGE //25.00	•
Coment Old Circalete	EXTRA FOOTAGE @	
Hyg Sown & 6:30pm	MILEAGE HUM 46 @ 7.00 322.00	
XIQ Vou	MANIFOLD 9 9 184. 90 184. 90	
0/		
CHARGE TO: 19 puris		
STREET	TOTAL 1631.00	;
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT	RECEIVED
	FLOG & FLOAT EQUIPMENT	FEB 0 2 2012
		. 25 0 2 2012
	@	KCC WICHITA
To Allied Cementing Co., LLC.	· @	THOU WICH IF
You are hereby requested to rent cementing equipment		
and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was		•
done to satisfaction and supervision of owner agent or	TOTAL	
contractor. I have read and understand the "GENERAL	CALED TAY OF A A	1
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)	
	TOTAL CHARGES 3. 197.	
PRINTED NAME Marty M. 78	DISCOUNT IF PAID IN 30 DAYS	